

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
JANUARY 15, 2019 AGENDA

Subject:	Type:	Submitted By:
ADVERTISEMENT FOR BIDS PARK VIEW BLVD RESURFACING 72 ND ST TO 84 TH ST	◆ RESOLUTION ORDINANCE RECEIVE/FILE	JOHN KOTTMANN CITY ENGINEER

SYNOPSIS

A resolution has been prepared authorizing the advertisement for bids for Park View Blvd Resurfacing-72nd St to 84th St.

FISCAL IMPACT

The FY19/20 Biennial Budget includes funding for this project. The cost estimate exceeds the funding shown for the project. This is the result of adding curb ramp reconstruction in order to meet ADA accessibility requirements and extending the project from 81st Street to 84th Street as well as four inlet top replacements. Additional sources of funds will be from the inlet top replacement project in the CIP as well as funds for 84th Street improvements.

RECOMMENDATION

Approval

BACKGROUND

The proposed construction includes removal and replacement of the existing asphaltic concrete overlay on Park View Blvd from 72nd to 84th. The work also includes removing and replacing four inlet tops and replacing curb ramps at 30 intersection corners to meet current standards of accessibility. Removal and replacement of concrete pavement below the asphalt in badly deteriorated areas is also included. This is CIP Project No. PWST-19-003 and also identified as Project M-376(226) in the 1 & 6 Year Road Program.

Preparation of plans and specifications for this project have been completed primarily in-house by the City Engineer with some drafting assistance from TD2. The Engineer's Estimate for the proposed construction work is \$700,150. The recommended schedule for bidding this work is:

Publish Notice to Contractors	January 23 and 30, 2019
Open Bids	February 8, 2019 at 10:00 am City Hall
City Council Award Contract	February 19, 2019

The Notice to Contractors will also be posted on the City's web site and at www.standardshare.com

RESOLUTION NO. ____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA AUTHORIZING THE ADVERTISEMENT FOR BIDS FOR PARK VIEW BLVD. RESURFACING.

WHEREAS, the Mayor and Council have determined that the resurfacing of Park View Blvd. from 72nd Street to 84th Street is necessary; and

WHEREAS, the FY 19/20 Biennial Budget provides funding for the potential public improvements; and

WHEREAS, the schedule for awarding this bid is as follows:

Public Notice to Contractors	January 23 and 30, 2019
Bids Due/Open	February 8, 2019 at 10:00 a.m.
Council Award Bid	February 19, 2019

NOW, THEREFORE BE IT RESOLVED, that the Mayor and City Council of the City of La Vista Nebraska hereby authorize the advertisement for bids for Park View Blvd. Resurfacing.

PASSED AND APPROVED THIS 15TH DAY OF JANUARY 2019.

CITY OF LA VISTA

Douglas Kindig, Mayor

ATTEST:

Pamela A. Buethe, CMC
City Clerk

NOTICE TO CONTRACTORS

City of La Vista
La Vista, Nebraska

PARK VIEW BLVD RESURFACING 72ND TO 84TH

Sealed proposals will be received by Pamela Buethe, Clerk of said City, at the City of La Vista, City Hall, 8116 Parkview Boulevard, La Vista, NE 68128, until 10:00 AM on the 8th day of February, 2019, for the furnishing of all labor, materials, use of Contractor's equipment, plant and all else necessary to construct properly all of the improvements for PARK VIEW BLVD RESURFACING, 72ND TO 84TH, PROJECT NO. M376(226).

At such hour, or as soon as practicable thereafter, the City of La Vista will proceed to publicly open in the presence of all bidders and consider the bids received for the furnishing of such labor, materials, and equipment necessary for the proper construction of such improvements.

The extent of the work consists of the construction or other effectuation of the items listed below and other related preparatory and subsidiary work from issuance of the Notice to Proceed:

Item	Description	Estimated Quantities
1	Perform Cold Planing - Asphalt, Ave. 2" Thick	26,100 SY
2	Concrete Surface Milling, 2" Thick	425 SY
3	Construct Asphalt Surface Course Type SPH (PG 64-34)	3,160 TON
4	Construct Concrete Base Repair, Type L85	1,400 SY
5	Install Permanent Preformed Tape Marking - Type 4, 5" Yellow	1,690 LF
6	Install Permanent Preformed Tape Marking - Type 4, 5" White	290 LF
7	Install Permanent Preformed Marking Tape Symbol - Type-Directional Arrow, White	3 EA
8	Adjust Manhole to Grade	30 EA
9	Adjust Utility Valve to Grade	11 EA
10	Provide Temporary Traffic Control	1 LS
11	Remove & Replace Inlet	4 EA
12	Remove Sidewalk	4,300 SF
13	Repair Curb & Gutter	660 LF
14	Construct 4" Concrete Sidewalk	4,300 SF
15	Construct 6" Concrete Sidewalk	145 SF
16	Construct 6" Imprinted Concrete Surfacing	745 SF
17	Construct 6" Concrete Curb Ramp	940 SF
18	Construct Segmental Retaining Wall	30 SF
19	Construct Detectable Warning Panel	320 SF
20	Clearing & Grubbing Per Intersection Corner	30 EA
21	Remove & Relocate Fence	40 LF
22	Remove & Install New Sprinkler Head	30 EA
23	Install Sodding	600 SY

24	Install Seeding, Type B	100	SY
25	Rental of Loader, Fully Operated	10	HR
26	Rental of Skid Loader, Fully Operated	10	HR
27	Rental of Dump Truck, Fully Operated	10	HR

All work called for in the drawings and specifications shall be furnished in strict accordance with the drawings and specifications prepared by the City of La Vista, and now on file with the City Clerk.

Each bid shall be accompanied in a SEPARATE SEALED ENVELOPE by a certified check or bid bond in an amount of not less than five percent of the amount bid and such certified check or bid bond shall be payable to the Treasurer of the City of La Vista, Nebraska as security that the bidder to whom the contract may be awarded will enter into a contract to build the improvement in accordance with this Notice to Contractors and will give a contract and maintenance bond in the amount of 100% of the contract price. No bidder may withdraw his proposal for a period of sixty (60) days after the date set for the opening of bids.

The City of La Vista, in accordance with Title VI of the Civil Rights Act of 1964, 78 Stat. 252, 42 U.S.C 2000d to 2000d-4 and Title 49, Code of Federal Regulations, Department of Transportation, Subtitle A, Office the Secretary, Part 21, Nondiscrimination in Federally assisted programs of the Department of Transportation issued pursuant to such Act, hereby notifies all bidders that it will affirmatively insure that in any contact entered into pursuant to this advertisement, minority business enterprises will be afforded full opportunity to submit bids in response to this invitation and will not be discriminated against on the grounds of race, color, or national origin, sex, age and disability/handicap in consideration for an award.

Drawings, Specifications and Contract Documents may be examined online at www.standardshare.com. Search for the project name in the Plan Room found at www.standardshare.com. Downloadable PDF files and hardcopy prints may be procured from StandardSHARE or the offices of Standard Digital Imaging: 4424 South 108th Street, Omaha, NE 68137, 402-592-1292. All costs associated with obtaining documents are the responsibility of the bidder and are non-refundable. Project documents may also be examined at the office of the City Clerk of the City of La Vista, 8116 Park View Blvd., La Vista, NE 68128. In order to ensure bidders are aware of all issued documents pertaining to this opportunity – bids will be accepted only from those identified on the planholders list kept at the offices of Standard Digital Imaging/StandardSHARE.

The City reserves the right to waive informalities and to reject all or any bids.

CITY OF LA VISTA, NEBRASKA

Pamela Buethe, Clerk

Opinion of Probable Costs
 Park View Blvd Resurfacing-72nd to 84th
 Based on Sarpy 2016 Aerial Photos & ADA Curb Ramp Concept Sketches with field observations
 City Engineer's Estimate-Prepared January 7, 2019

Item #	Description	Estimated Quantities	Unit Price	Amount
1	Perform Cold Planing - Asphalt, Ave. 2" Thick	26,100 SY	\$3.00	\$78,300.00
2	Concrete Surface Milling, 2" Thick	425 SY	\$4.00	\$1,700.00
3	Construct Asphalt Surface Course Type SPH (PG 64-34)	3160 TON	\$90.00	\$284,400.00
4	Construct Concrete Base Repair, Type L85	1400 SY	\$95.00	\$133,000.00
5	Install Permanent Preformed Tape Marking - Type 4, 5" Yellow	1690 LF	\$5.00	\$8,450.00
6	Install Permanent Preformed Tape Marking - Type 4, 5" White	290 LF	\$5.00	\$1,450.00
7	Install Permanent Preformed Marking Tape Symbol - Type-Directional Arrow, White	3 EA	\$440.00	\$1,320.00
8	Adjust Manhole to Grade	30 EA	\$500.00	\$15,000.00
9	Adjust Utility Valve to Grade	11 EA	\$1,500.00	\$16,500.00
10	Provide Temporary Traffic Control	1 LS	\$10,000.00	\$10,000.00
11	Remove & Replace Inlet	4 EA	\$4,000.00	\$16,000.00
12	Remove Sidewalk	4300 SF	\$1.25	\$5,375.00
13	Repair Curb & Gutter	660 LF	\$35.00	\$23,100.00
14	Construct 4" Concrete Sidewalk	4300 SF	\$4.50	\$19,350.00
15	Construct 6" Concrete Sidewalk	145 SF	\$6.00	\$870.00
16	Construct 6" Imprinted Concrete Surfacing	745 SF	\$7.50	\$5,587.50
17	Construct 6" Concrete Curb Ramp	940 SF	\$15.00	\$14,100.00
18	Construct Segmental Retaining Wall	30 SF	\$25.00	\$750.00
19	Construct Detectable Warning Panel	320 SF	\$20.00	\$6,400.00
20	Clearing & Grubbing Per Intersection Corner	30 EA	\$150.00	\$4,500.00
21	Remove & Relocate Fence	40 LF	\$20.00	\$800.00
22	Remove & Install New Sprinkler Head	30 EA	\$20.00	\$600.00
23	Install Sodding	600 SY	\$9.00	\$5,400.00
24	Install Seeding, Type B	100 SY	\$1.50	\$150.00
25	Rental of Loader, Fully Operated	10 HR	\$110.00	\$1,100.00
26	Rental of Skid Loader, Fully Operated	10 HR	\$75.00	\$750.00
27	Rental of Dump Truck, Fully Operated	10 HR	\$85.00	\$850.00
Total Construction Estimate				\$655,802.50
Design Fee-Drafting Assistance from TD2				\$5,000.00
Construction Testing & Observations, 6%				\$39,348.15
Total Estimate				\$700,150.65